IRIEXEHRARBBIRAE
cELCLESER A i Eh i gl oINS E 1)

- BEELR
1. TP RIS WOR T B IR 9 53 B s 0L

e % RERREINE | SRTFHEEE | SHIEBERAR
g ) i) Ll e
TR & 6 1. 50% 0. 05%
HZEEA R, TR BR,
N2 - R WS E R IYNAP S 224 56. 00% 1. 72%
(153 )
it B SHACE, 10 2. 50% 0. 08%
AT 240 60. 00% 1. 85%
2. TR PR B R SR AE S BUR R B A 2 BRI L
w4, s RROBHIERE | AR TFHNGEEERE | SEirBRE
&K # H) He A6l
T Il S 2 6 1. 50% 0. 05%
HEEBAR, TR, #
NN 2= & DS EE (PN 124 31. 00% 0. 95%
(83 )
il v 30 7.50% 0. 23%
it 160 40. 00% 1. 23%
. B g8
PS5 | BN BRAL JESEHIRL | PRABMAERR it
1 x B Al B 6.0 6.0 12.0
2 AR gL SRz i 5.0 7.0 12.0
3 I 2 T B P 4.0 4.0 8.0
4 M K SRZP LB 4.0 4.0 8.0
5 ST SRZP LB 4.0 0.0 4.0
6 WOk R AR SR 2.5 2.5 5.0
7 W AR Eoy /NP S el 2.0 3.0 5.0
8 H itk oy /NI IP SEA 2.0 2.0 4.0
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69 &2 Mg 55+ 2.0 1.0 3.0
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91 Z= Mg & -y 0.6 0.0 0.6
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93 {4 W55+ 0.6 0.0 0.6
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95 e PR T 1.0 1.0 2.0
96 T PR T 1.5 0.0 1.5
97 WA AR T 1.5 0.0 1.5
98 T3 PR T 1.0 0.5 1.5
99 e PR T 1.5 0.0 1.5
100 Ji & PR T 1.0 0.5 1.5
101 817 PR T 1.0 0.5 1.5
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103 B Fif 5 PR T 1.0 0.5 1.5
104 [T AR T 1.0 0.0 1.0
105 25k AR BT 1.0 0.0 1.0
106 x| R AR T 1.0 0.0 1.0
107 IH- 61 g R ARET 0.3 0.5 0.8
108 YR ARAE AR ET 0.8 0.0 0.8
109 AR B EARET 0.8 0.0 0.8
110 AR B EARET 0.8 0.0 0.8
111 RN PR T 0.8 0.0 0.8
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113 AR T AR T 0.6 0.0 0.6
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115 BRE AR T 0.6 0.0 0.6
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123 RIER THEHEARET 1.0 0.5 1.5
124 KA THHEARET 1.5 0.0 1.5
125 bR THHEARET 1.5 0.0 1.5
126 Jigk THHEARET 1.5 0.0 1.5
127 45 THHEARET 1.5 0.0 1.5
128 Boiak THHEARET 1.5 0.0 1.5
129 KA THHEARET 1.0 0.0 1.0
130 N THRHEARET 1.0 0.0 1.0
131 bi§%:s TRHEARET 1.0 0.0 1.0
132 TERERR THEHEARET 1.0 0.0 1.0
133 FEENI THHEARET 1.0 0.0 1.0
134 XA THEHEARET 1.0 0.0 1.0
135 28 X THHEARET 0.8 0.0 0.8
136 PN TREEARET 0.8 0.0 0.8
137 A=K THHARET 0.8 0.0 0.8
138 TRAERH THHARET 0.6 0.0 0.6
139 Hg [l 55 TREEARET 0.6 0.0 0.6
140 TI6SC THRHEARET 0.6 0.0 0.6
141 RN TREHEARET 0.6 0.0 0.6
142 =l THEHEARET 0.6 0.0 0.6
143 TR THEHEARET 1.0 0.5 1.5
144 HE THEHEARET 1.5 0.5 2.0
145 KWK THEHEARET 1.0 0.5 1.5
146 e IS THEHEARET 0.7 0.5 1.2
147 T4 B THEHEARET 1.0 0.0 1.0
148 e TRHEARET 1.0 0.0 1.0
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150 TR TRHEARET 0.8 0.0 0.8
151 X5 IK TRHEARET 0.8 0.0 0.8
152 HFF TREHEARET 0.8 0.0 0.8
153 ARATIS TRHEARET 0.8 0.0 0.8
154 IRAEHE THHARET 0.8 0.0 0.8
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